AREASHER

A-BT70Ov) (ZBEBRETSOVRAB) ERE

(#)8)

AJovy | ZE% | SB[ BeF | 8K | &R B B X
SO Ol /A | 8 1 | 151 1.000
sHL| X X | 1 9 0.000
ger | AN\ | O 3 2 | 131 1.000
B70v) | EREY | #0880 | =B | Bm | ks B B X
BREY A | X |3 |12 | 181D |0.000
w#0 | /\ Ol 4| 2 | 1B | 1.000
28| (O | X 12 | 65 | 1BES18Y | 0.500
E—HEF—LB 1|2]|3|4]|5]|6]|T]|3

ZEY |1]l0f0 1

#)#D | 0 [ 0 [ 1 1
ETHGF—LB[ 1]2]3][4]5]6]|T]F

sHk[o[ofo]oO 0

ZBF [ 2 [ 3] 0] 2x Tx |4C
E=HGF—LB| 1]2|3][4]|5]6]|T]|F

ZEY [2[0]0 2

£HEB | 2 | 4 |5x 11x |3C
EHGF—LB| 1| 2[3[4]|5]|6[7T]5

BIFEF | 1 [ 0| 0| 1 2

SHI 0l11]0 1
EhAgF-—LB| 1| 2[3[4]|56]|6[7T]5

&#®B [ 1] 0] 0]0 1

W@ [o]o[3[X 3
EAEGF—LB[ 1]2]3][4]5][6]|T]F

%M [ 1(0fo0f0]oO 1

B [0 0] 11010 1




AREASHER

C-DT70Ov) (BEBHRET>oVrBE) WAl

(#)8)

cJo | AFJ [ AEB[WER | B8R | KR | B B | B =
N X |1 O| b | 6 | 11BN |os00
rEe | O O113 ] 3 215 | 1.000
mer| X | X 4 | 13 288 |0.000
00w | BIEN | Boe | oBF | B | Fm | B B | B =
BN X I X! 1|1 288 |0.000
azz| O O|1 810 2B |0.500
sgr | (O | X 4 | 2 | 15188 |o.500
E—HEF—LB[ 1|2]|3|4]|5]|6]|T]|3

BIEN | 0[0] O 0

B2= | 0] 7| X 7 3¢
B GF LB 1 3[4a]5]6[T]5

AEJ o[ 1]o]o0 1

FigB [ 2 [ 0] 2 | X 4
E=HGF—LB[ 1]2|3][4]5]6]|T]|F

=®HF (o[o0fofo0foO 0

Eo2= | 0] 0] 0] 1[X 1
EHGF—LB| 1| 2[3][4]|5]|6[7T]5

FiEB [ 0054 9 |4C

meRr [o0[2]0]0 2
BhagF—LB| 1 5|6[T[%

SHFE |0 1 [ 1] 1] 4

BN [0 ] O0JofO]1 1
EAGF—LB[ 1]2]3][4]5][6]|T]F

WER | 0[ 0| 0] 2 2

AXEJ | 1] 3]0 X 4




AREASHER

E-F70OvD (ZBHFPERTSOVRAE) WHE

(#)8)

ETovo | RRF [ C[U8aF | Bk | XK= B W [ B =
PIF X |1 O| 8| 6 | 118N |o.500
mcl O X | 3| 8 | 1B518Y |o.500
asr | X | O 1| 8 | 1B518% |o.500
Frovo| BEV (8 X [ AR| B | KR B W [ B =
=Y X1 X | 0110 288 |0.000
w %l O X | 31| 9 | 118N |0.500
wrw| O | O 161 0 D 5 1.000
E—HEF—L8 1|2]|[3|4]|5]|6]|T]|3

=EV olo]o 0

B F[1]1]11]0 3
ETHREGF—LB[ 1]2]3][4]5]6]|T]F

RWF [ 1]0[0]0]0O 1

B Cclo]1][0] 01 2x
E=HGF—LB[ 1]2|3][4]5]6]|T]|F

ReHEe | 1] 0 4] 4 9

B = ofofo 0 |4C
EHGF—LB| 1| 2[3[4]|5][6[7T]5

ISF [ 2] 0] 0] 6 T

m clofJofo]H1 1
EhAgF—LB| 1| 2[3[4]|56]|6[7T]5

=EV [0[0]0 0

e | 2 | 3]2x 7x]3C
EAEGF—LB 1]2]3][4]5][6]|T]F

RFE [ 3] 4]0]0 1

AISF [ 0] 0] 4]0 4




AREASHER

G-HZOw) (ZBEDPERTSOV/RBE) B

(#)8)

o | BRI [ EBRP [ KRB | B | K= | B B[ B =
ER X |1 Ol b | 2 | 118 (o500
ggr | () /ANl 6 | 4| 11D | 1000
g=s| X | A\ 4 | 9 | 1801y |0.000
Wowo | BRA [BRN\B|BEy | B8R | XR 5 B B =
BEA X | X1| 3] 8 288 |0.000
mne| (O \ Ol 71| 3 285 | 1.000
mzr | O | X \ 3| 2 | 1518 |o.500
E—HEF—L8 1|2]|3|4]|5]|6|T]|3

gBg\E|1]0] 0] 4 5

BRA o[ 1]2 3
ETHGF—LB[ 1]2]3][4]5]6]|T]F

BRP [0]ofof2]o0 2

BRJ [o]ofofofo 0
B=HGF—LB| 1]2|3][4]5]6]|T]|F

BEy|[o0JoJofo 0

wmNE[of[ofof?2 2
EHGF—LB| 1| 2[3[4]|5]|6[7T]5

gEP | 2020 4

EEB |00 0] 4 4
EhAGgF-—LB| 1| 2[3[4]|56][6[7T]5

BEy (0021 3

BRA [0 o[o0]1 1
ErEgF—LB 1| 2[3[4]|5]|6[T]5

F8B [0[o0f0]oO 0

BRJ[o]o[2]3 5




